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Name:

60 x

30 x

73 %

52 x

93 x

42 x

19 x

Datum: Ergebnis:
% =54 88 % =704
% =21 84 x % = 8.4
% = 584 98 x % =9.8
% =15.6 93 x % = 65.1
% =24 5% %=1

% = 35.2 70 x % =17

% = 46.5 14 % % =112
% =294 75 % % =15
% =9.5 89 X % = 26.7
% =112 35 x % =21
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Finden Sie die Prozente

Name:

60 x 90% = 54

30 x 70% = 21

73 x 80% = 58.4

52 x30% = 15.6

6 x40% = 2.4

44 x 80% = 35.2

93 x 50% = 46.5

42 x70% = 29.4

19 x 50% = 9.5

14 x 80% = 11.2

Datum: Ergebnis:

88 x 80% = 70.4

84 x 10% = 8.4

98 x 10% = 9.8

93 x70% = 65.1

5x20% =1

70 < 10% =7

14 x 80% = 11.2

75 x20% = 15

89 x 30% = 26.7

35 x60% = 21
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